Social Science

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Who of the following was not the courtier of Kanishka ?

(1) Charaka (2) Megasthenes (3) Nagarjuna (4) Ashwaghosha
2
Who was the writer of ‘Mudrarakshasa’ ?
(1) Kalidasa (2) Vishakhadatta (3) Amar Singh (4) Sudraka
2
The fourth Buddhist conference was organized during the reign of which ruler ?
(1) Kanishka (2) Rudradaman (3) Ashoka (4) Chandragupta Maurya
(1)
Where is the ‘Jantar-Mantar’ situated ?
(1) Sikar (2) Ajmer (3) Jaipur (4) Bikaner
G3)
Which one of the following incidents happened first ?
(1) Non-Cooperation movement (2) Quit India movement
(3) Simon Commission (4) Personal Satyagraha
(AC)
Which one of'the following was not related to the Sikar Peasant Movement ?
(1) Chetram (2) Tulchharam (3) Tikuram (4) Devlal
“4)
Match List - I with List - IT and select the correct answer by choosing from the given codes:-
(1) Flying Shuttle Loom (1) Samuel Crompton
(2) Spinning Jenny (i) Richard Arkwright
(3) Water frame (ii1) James Hargreaves
(4)Mule (iv) John Kay
a b c d
()i ii iii iv
(2)ii iv iii i
3)iv ii iii i
4)iv iii ii i
“4)

Which one of the following is not correctly matched ?
(1)Ropar - Punjab ~ (2) Lothal - Haryana  (3) Rangpur - Gujarat (4) Kalibanga - Rajasthan
2)
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Ans.

10.

Ans.

11.

Ans.

12.

Ans.

13.

Ans.

14.

Ans.

15.

Ans.

Which ruler of Bharatpur is called ‘The Plato of the Jat Caste’ ?

(1) Rajaram (2) Surajmal (3) Badan Singh (4) Chudaman

2

After the end of First World War, which treaty was made with Germany ?

(1) Treaty of Versailles (2) Treaty of Triyana  (3) Treaty of Newly  (4) Treaty of Berlin
(1

Who was the publisher of ‘Samvad Koumudi’ ?

(1) Bal Gangadhar Tilak (2) RajaRammohan Roy

(3) Dayanand Saraswati (4) Mahatma Gandhi

2

Which Prime Minister of India called multipurpose water projects as “The Temple of Modern India” ?

(1) Pandit Jawaharlal Nehru (2) Rajiv Gandhi

(3) Indira Gandhi (4) Atal Bihari Vajpayee

(1

Rabi crop is -

(1)Rice (2) Gram (3) Maize (4) Soyabean

2

Which one of the following is the copper mine situated in Rajasthan ?

(1) Morija - Banol (2) Degana - Bhakri  (3) Zawar (4) Khetri - Singhana

“4)

Match List - I with List - IT and select the correct answer by choosing from the given codes:-
List-I List-11

(Iron and Steel Industries) (State)

(1) Durgapur (1) Jharkhand

(2) Rourkela (ii) Chattisgarh

(3) Bhilai (iii) Orissa

(4) Bokaro (iv) West Bengal

a b c d

1 v i i i
@ v i i i
3) i i i v
@) i i iii v
(D
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16.

Ans.

17.

Ans.

18.

Ans.

19.

Ans.

20.

Ans.

21.

Ans.

22.

Ans.

23.

Ans.

24.

Ans.

Which of the following is the highest population density district of Rajasthan ?

(1) Jaipur (2) Bharatpur (3) Alwar (4) Dausa

)

“New Mangalore™ seaport is located in which state of India ?

(1) Karnataka (2) Tamil Nadu (3) West Bengal (4) Maharashtra
)

Which of the following is an atomic energy mineral ?

(1) Coal (2) Petroleum (3) Beryllium (4) Natural Gas
A3)

Among the following the latitudinal extension of Rajasthan is :-
(1)23°3/ East Latitude to 30° 12/ East Latitude

(2) 23°3/ West Latitude to 30° 12/ East Latitude

(3) 23°3/North Latitude to 30° 12/ North Latitude

(4) 23°3/ South Latitude to 30° 12/ East Latitude

3)

Which of the following rivers falls in the Arabian Sea ?

(1) Tapti (2) Krishna (3) Kaveri (4) Mahanadi
(D

What is ‘Mavath’ ?

(1) Rainfall near the Malabar Coast in summer season

(2) Warm winds which blow in Rajasthan in summer season
(3) Rainfall due to Mediterranean cyclones in winter season

(4) Cyclones of the Arabian sea

)

Which tree is known as ‘Kalpa Vriksha’ in Rajasthan ?

(1) Rohira (2) Kair (3) Bair (4) Khejari
“4)

Among the following who is a supporter of the Pluralistic Theory of Democracy ?
(1)J.S. Mill (2) T.H. Green (3) Hobbes (4)H.J. Laski
“4)

Who decides whether a bill is a money bill or not ?

(1) Prime Minister (2) President

(3) Speaker of Lok Sabha (4) Vice - President

®)
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25. Who has the right to declare a subject of the state list national importance ?

(1) Rajya Sabha (2) Lok Sabha

(3) State Legislative Assembly (4) State Legislative Council
Ans. (1)
26. At present how many high courts are there in India ?

(1)22 (2)24 (3)26 (4)29
Ans. (2)

217. Which of the following are included in the State Government ?
(1) Governor, Cabinet, Chief Minister (2) Judiciary, Executive, Chief Minister
(3) State Legislature, Executive, Judiciary (4) Cabinet, State Legislature, Governor
Ans. (1)
28. Under which Article of the Constitution each high court has been established as a court of records ?

(1) Article 215 (2) Article 216 (3) Article 221 (4) Article 222

Ans. (1)

29. Which Fundamental Right is given by the Constitution of India to protect all fundamental rights ?
(1) Right to Liberty (2) Right to Constitutional Remedies
(3) Right against Exploitation (4) Right to Equality

Ans. (2)

30. The highest unit of Panchayati Raj system is
(1) Zilla Parishad (2) Panchayat Samiti  (3) Gram Panchayat  (4) Gram Sabha
Ans. (1)

31. When was the minimum age of 18 years for Franchise implemented in India ?
(1) 1947 (2) 1955 (3) 1987 (4) 1989

Ans. 4)

32. Which Indian politician played an important role to make Non-alignment as a movement ?
(1) Pandit Jawaharlal Nehru (2) Mahatma Gandhi
(3) Lal Bahadur Shastri (4) Sardar Vallabh Bhai Patel

Ans. (1)

33. Match List - I with List - IT and select the correct answer by choosing from the given codes:-
(1) Permanent Chairman of the (i) B.N.Rao
Constituent Assembly

(2) Legal Adivser of the Constituent Assembly (ii) Dr. Rajendra Prasad

(3) Chairman of'the Drafting Committee (iii) Sachchidanand Sinha
(4) Temporary Chairman of (iv) Dr. Bhim Rao Ambedkar
the Constituent Assembly

MATRIX HIGH SCHOOL : Piprali Road, Sikar Ph. 01572-242911, Mob. 97832-62999



a b c d

(1) 1 il iii v

(2)ii i v iii

(3) iii iv i il

4)iv iii il i
Ans. (2)
34.  Thenation with a capitalist economy is

(1) Russia (2) China (3) Japan (4) Bulgaria
Ans. (3)

35. The White Revolution is related to:

(1) Production of eggs (2) Production of Milk (3) Production of sugar (4) Production of rice
Ans. (2)
36. The institution calculating National Income in India is

(1) Central Statistical Organization (2) Finance Commission
(3) Central Bank (4) NITT Aayog
Ans. (1)

37. The World Trade Organization was established on

(1) 1% January, 1935 (2) 1% April, 1935 (3) 1% January, 1995  (4) 1% April, 1995
Ans. (3)
38. The reason of inflation in India is

(1) Rapid growth in agricultural production (2) Rapid growth in industrial production

(3) Low level of public expenditure (4) High level of public expenditure
Ans. 4)
39. The institutional source of credit is
(1) Money lender (2) Selfhelp group (3) Commercial Bank (4) Trader
Ans. (3)
40. In India, cases of goods more than one crore of rupees can be filed by the consumer in
(1) Block Forum (2) District Forum
(3) State Commission (4) National Consumer Protection Commission
Ans. 4)
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